/DVIRB

3RPLHV]F]HQLH 5RINGDG = ( 7\J
= 7N 7N 7N
% 6HPLQDUXP PDJIVIHIVNIH 6HPLQDUXP = \NiDG PRQRIUDIFIQ\ S
8 Z SIRI GUKDE GRNIRUDQFNIH SURI GU URI GUKDE &]JDINRZVND
Ty &]DINRZVND $JQHVIND KDE &]DINRZVND SIQHVIND = ( D)
I “C :)+)30 SIQHVIND = D) +/71 =
o z +/71 = D)+ /T
@ 1 > D)+ /71
7} z )+ /71 0
7N 7N 7N
6HPLQDUXP (LFHQFIDFNH ~CT\N DFLEVNL ]
SHIRUNND G]LHQQINDUND GU %CGNRZVNL ZHVIHN = ( HIHP NX0i DQINFTQH! G2
iZ G %CGNRZVNL )+)3/ 0 = GUKDE -DQXV - DIDUJ\QD
= JHVIEN = ( )+ “C 2)+)3/
E )37/ & -
=
N 7N
GHPLQDUXP (LFHQFIDFNIH
GU %CGNRZVNL ZHVIHN = (
)+ .0/ z
7N 7N 7N
+LVIRUD KIVIRURJUDILL 6HPLQDUXP 6HPLQDUXP
o iiZ GU ORIDZIHF GRNIRUDQFNIH GU KDE GRNIRUDQFNIH SURI GU
< TRUEHU = )+ SIRI 8- 6]DUJRI KDE =DZDG]N. SREHUI =
2 +61 = %DUEDUD = ( )+ C DH+/71
/71 - D)+/71 - D)+/71 -
D+ /71 - )+/71 > I+
)+/71 - /71 z
7N 7N
ZUHUDIXUD SRZV]HFKQD ™
6IXGLXP SUJ\SDGNX Z S = \NiDG PRQRIUDIFIQ\ S
IRl GUKDE =DZDG]IN. URI GUKDE =DZDG]IN. 3U]HGPIRI
z SREHUI = ( D+ SREHUI = ( D+ GR Z\ERUX
= )3/ = )30 = iz o
a KDE SURI
N QDG1Z
(o] 8-"
w = yiIFIN
8\VIXD "
(C D)
+-(C=1
=
™
[a e
©




